[ Efficiency vs vertpos |

=002
9.018F
@ E
10.016
o = : : :
@.0LAF e N A SRREELREEEEE
2 = : : :
0L peeeeee e oneeeeee
0.0F i ; ;
0.008F

0.006f--+--sviseneeeess R L SRR
0.004fF -+ P Feeeeees den e
0.002F -+ eeseieeemeneenees R L e

1.0

Ratio

e
TTTT [T T
5
T

0.95 . .
1072 107 1 2

10 0
TP vertr (cn%)

_ng'_c_._ _CRF-test_TOOUevt
—— M_CKFREFit-test_1000evt

D
——— . DOM_mKFitREFit-test_1000evt
Efficiend DOM_NANTEST _10006vt

~ 0.0 : : . . .
Do b

o F ; - - ;
%.008------ e L e
> - . . . . .
%) o : : : : :
U A SN A S
e
o E : : : : :
T R S S SR SR
0,004 +-wormsri
e SR S N SN S
7t S S R S
YO0 SRR R RN TSI e

00 OUUL OO Nuut bt o

Ratio

e SRt S S S S

B0 =20 -10 0 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.0

> E E E E E
’x_)-oog_ """ prrrTrTrRTTTTTTT prrtrrrriTTTTTY p

L e L At
BO07E b
O S N S S
e SR T
U Rt HAE S AR S
] o . . . . .
R RS SR L SR
RS S L SR
7 it SRS S S S

YU SRS SR S S S

o Q= b
s ot 1
o C

RSO IS RSN RIS OO

%50 40 20 0 20 40 60
Sim. PV z (cm)



	Contents
	Page 1


